o(d dxy) (cm)

Ratio
3

o(d o) (rad)

o(d dz) (cm)

08 310 1 2 3

Ratio
F

c
- C
[ _I__I__I__ __I__I__I__I__ R A A e

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
—«— DQM_V0001_R000000001__Global__mkFitNewBins2DC1000time__RECO

........................................................................

.............................................................

—3 —2 —1 O 1 2 3
TP ® (PCA to beamline)

o p_/p.)

TP ® (PCA to beamline)



	Contents
	Page 1


